
Bridgewater Bench Swing 
 

 
Material List 

• 12 dowels  
• 2 1/2” galvanized deck screws  
• 3” galvanized deck screws  
• 2 galvanized carriage bolts, 5/16” x 2 1/2”, with nuts and washers  
• 2 galvanized carriage bolts, 5/16” x 3 1/2”, with nuts and washers  
• 2 galvanized carriage bolts, 1/4” x 5”, with nuts and washers  
• 4 galvanized carriage bolts, 5/16” x 8”, with nuts  
• 4 galvanized eyebolts, 5/16” x 4”, with nuts  
• 4 galvanized coupling nuts, 5/16”  
• 4 galvanized screw eyes, 5/16” x 3”  
• 6 snap links  
• Chain  
• Five-quarter stock lumber  

  

 
 



 
 

 
 

 
 


